
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1065.5 × 0.001 = ________ 2128.5 × 0.1 = ________

9021.8 × 0.01 = ________ 9700.2 × 0.1 = ________

3460.8 × 0.1 = ________ 5061.8 × 0.001 = ________

9354.6 × 0.1 = ________ 1730.8 × 0.001 = ________

2626.3 × 0.0001 = ________ 5432.9 × 0.01 = ________

7990.9 × 0.0001 = ________ 2503.2 × 0.01 = ________

9601.8 × 0.0001 = ________ 3634.6 × 0.1 = ________

1349.6 × 0.01 = ________ 1992.6 × 0.001 = ________

2912.1 × 0.0001 = ________ 1551.6 × 0.1 = ________

1871.7 × 0.001 = ________ 2424.5 × 0.0001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1065.5 × 0.001 = 1.0655 2128.5 × 0.1 = 212.85

9021.8 × 0.01 = 90.218 9700.2 × 0.1 = 970.02

3460.8 × 0.1 = 346.08 5061.8 × 0.001 = 5.0618

9354.6 × 0.1 = 935.46 1730.8 × 0.001 = 1.7308

2626.3 × 0.0001 = 0.26263 5432.9 × 0.01 = 54.329

7990.9 × 0.0001 = 0.79909 2503.2 × 0.01 = 25.032

9601.8 × 0.0001 = 0.96018 3634.6 × 0.1 = 363.46

1349.6 × 0.01 = 13.496 1992.6 × 0.001 = 1.9926

2912.1 × 0.0001 = 0.29121 1551.6 × 0.1 = 155.16

1871.7 × 0.001 = 1.8717 2424.5 × 0.0001 = 0.24245
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